log [ V] Skalierungsfaktor

log [Lg] Infeld-Leuchtdichteschwelle

3| =V (Ls/ 9 1-s+sL/LYN -1] [1] 2T[C~ (Ls/ 9" 1-stsL/LY" -1] [1]
n=-025 2] n=-0,25 [2] &
V = 1/(0,0361L,;0.39 3] V= 10,036 15030 3
21 |ts=0,025.9:705 [4] 17 |Lo= 00299705 ]
s = 1/[1+(n V LOYVAN) 5] s = 1/[1+(n V LYV 51 s
L, =0.1; 1; 10; 100; 1000 cd/n [6] L, =0,1; 1; 10; 100; 1000 cd/n [6] -0.18 "t
1 100+ .
, log [Ls] Infeld-Leuchtdichteschwelle E
log [ V] Skalierungsfaktor 298 Umfeli-Usucntichte -0.89 %t H
Unmfeld-Leuchtdichte 265 1000 .-==""" 1.(),“ : 2
0 L/fed/m?] 2 100 _.-@°" -1 Lyfledim? /4 gq e : :
10 _,.--®" : <7 0 H
T ' 0 23, b H E
= : : : ’2 oL+ '
H | 2 I3
Infeldleucmdlchle L/[cu/mZ] Infe\dleuchldlchle L/[cd/m?]
10 1000 10000 0001 00L*" 01 1 0 1000 10000
-2 ¥
-3 -2 -1 [} 1 2 3 4 -3 %2 -1 [} 1 2 3 4
=3 log L/[cd/m2] o =——> log L/[cd/m2]
CGSB51-5A CGS51-6A

log [s] Infeld-Schwellenfaktor

log [L* ] Indfeld-Helligkeit

23 [ =V (Lo /9 1-stsL/L9n-1] [1] 4 [0 =V (L /9 1-stsL/Lyn 1] [1]
h=-025 2] h=-025 2]  log[L*] Indfeldhelligkeit
V = 1/(0,0361 L ;039 3] v = 1/(0,036 L“’U 30 3] Umfeld-Leuchtdichte
14 [ts=0,025.9.705 [41 3 +|s=0025.70 (4
5= 1[1+(n V LoyY(L) i) 2 (v %,)1,(14,)] 5] L/fed/im?) >
L, =0,1; 1; 10; 100; 1000 cd/n [6] L, =0,1; 1; 10; 100; 1000 cd/n [6]
0 log [s] Infeld-Schwellenfaktor 2
Umfeld-Leuchtdichte
L/[ed/m
-1 -138 ,1“4[8 T— 1
; *1.55
e, 1 -1.67
= 100
-2 . = 0
Infeldlleucmdlchle L/[cd/m2] . Infe\dleuchldlch(e L/[cd/m2]
0,001 0,01 0,1 1 0 100 1000 10000 ]P 1o 1§00 10000
B -1
-3 -2 -1 0 1 2 3 4 H ) 3 4
=——> log L/[cd/m?] . ' ——=> log L/[cd/im?]
CGS51-7A CGS51-8A

CGS51-7N




